Life cycle of human

1. Let’s draw the life cycle of the human

2.  Which statement about human’s life cycle is
incorrect?
a.The fertilised egg develops into a baby inside the
mother’s body.
b. The life cycle of a human consists of four stages
c.The young resembles the adult

d. Theyoungis born alive.
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3. Let's answer the following questions!

a. Does the baby resemble the papents?

9

b.  Will the human lay eggs?
9

c.How many stages does human’s life cycle have?

9

d. At which stage can the human reproduce?

>
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